Alg 1 1.3
Recognize the properties of equality and identity.
Recognize the associative property I (O'Z
= 2S6

Reflexive d= 3
Symmetric x S 6 = %
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Commutative property 3 +S 5 + 3
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Property S Symbols Examples
Reflexive Any quantity is equal to itself.  For any number &, 5=5
Property a=a 4+7=4+7
If one quantity equals a For any numbers g =2+86,
Symmetric second quantity, then the aand b, ifa=b, then2 + 6 = B.
Property second quantity equals thenb=a
the first.
If one quantity equals a For any numbers HE+9=3+12
Transiti second guantity and the abandcifa=band and3 + 12 =15 then
Property second quantity equalsathid b=c thena=c 64+9=15
quantity, then the first quantity
equals the third quantity.
s A quantity may be substituted Ifa=b thenamaybe If n=11 then
M"’"““ for its egual in any expression. | replaced by bin any dn=4.11
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Addition Properties

el ra R B S R
Anumber and its opposite are  a+ (—a =10 34(=3)=0 ;;
Additive Inverse  additwe inverses of each i P g -
other, - S
. 3
Multiplication identity
Associative
Words The way you group three or mare numbers when acdding or multiplying does not change
their sum or product.
Symbols For any numbers a, b, and ¢,
(@+ty+cma+(b+ candlabic = albg.

B+5+7=3+(5+7 (R-6)-9=2.6-9)




L\ulhl:ltl. cach expression using properties of numbers, Name the property used
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Matching activity



Find the value of x. Then name the property used.
3. E=8+x 3. 324x=32
40. 10x = 10 R

-

2. x+0=5 43. 1.x=3



44.5.%-1' 85.24+8=8+x

6 x+3=343 a7, Lox=1






